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HR3—2 BEWIERATHEEESNAEHEICHETHEE/1) | BEFE | EAmEE
AlEROLE | Emes | 17451076 [ EiE | Hidrond L e T S N
) SERMO TinlICEET S ZEH A
ﬁi’; TREOBBOEILNOKRES TERFDOHBEEILNOKRES TREOBEOEILADKRES TREOHBEEILADKES
7 100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~ -
s 1.00 | 0.00 ~ b5.51 68.83 | TnS | 0oo ~ 000\ 1.567 821 st 1.00 | 6.00 ~ 6.61 68.83 | Tns | 5.00 ~ 6.61)| 1.567 821
2 100kN/mM%#BZ % - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~
s 1.00 | 0.00 ~ 6.92 87.66 | Ths | 000 ~ 000 1.71 8.95 st 1.00 | 6.00 ~ 8.60 87.66 | Ths | .00 ~ 860 | 1.71 8.95
3 100kN/mM%#BZ % - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - S| 3mEBZD -~
s 1.00 | 0.00 ~ 693 87.75 | #h4 | ooo ~ 000 1.71 8.96 st 1.00 | 6.00 ~ 8.61 87.75 | #hs | 6.00 ~ 861 1.71 8.96
4 100kN/mM%E#BZ5 | 1.00 | 000 ~ 0.64 109.49 |3m%E#BZ 5 -~ - - -] 100kN/ %825 | 1.00 | 11.22 ~ 1346 109.49 |3m%E#BZ% -~
s 1.00 | 0.64 ~ 842 100.00 | #nlst | 0.00 ~ 842 2.02 10.61 st 1.00 | 6.00 ~ 1122 100.00 | =nst | 6.00 ~ 1346 2.02 10.61
5 100kN/m%E#BZ5| 1.00| 000 ~ 1.36| 12058 |3mEEZD -~ - - -] 100kN/m%i#82x% | 1.00 | 11.10 ~ 16.61 120.58 [3mZE#EZ 5 -~
s 1.00 | 1.36 ~ 9.14 100.00 | =St | 000 ~ 9.14 | 2.21 11.61 st 1.00 | 6.00 ~ 1110 100.00 | =nst | 6.00 ~ 1661 2.21 11.61
P 100kN/m# %% | 1.00 | 000 ~ 1.43| 121.70 |3m%E8BZ% -~ - - -] 100kN/ %825 | 1.00 | 10.95 ~ 16.61 121.70 |3m%E#BZ B -~
s 1.00 | 1.43 ~ 9.21 100.00 | #nst | 0.00 ~ 9.21 | 223 11.71 st 1.00 | 6.00 ~ 1095 100.00 | =nst | 6.00 ~ 1661|223 11.71
- 100kN/mM##BZ5 | 1.00 | 000 ~ 0.99 114.85 |3mZEEZ 5 -~ - - -| 100kN/ % 8z 5 | 1.00 | 11.03 ~ 1461 114.85 [3mZE#EZ 5 -~
s 1.00 | 099 ~ 877 100.00 | #nlst | 0.00 ~ 877 | 2.05 10.73 st 1.00 | 6.00 ~ 1103 100.00 | =nst | 6.00 ~ 1461)| 2.06 10.73
P 100kN/m%E#BZ25| 1.00| 000 ~ 068 11006 |3mEEZD -~ - - -] 100kN/mZ#8z% | 1.00 | 1084 ~ 1300| 110.06 |3mZ#Bz25 -~
s 1.00 | 0.68 ~ 846 100.00 | =St | 0.00 ~ 846 | 2.07 10.87 st 1.00 | 6.00 ~ 1084 100.00 | =nst | 6.00 ~ 1300| 2.07 10.87
9 100kN/m%E#BZ5 | 1.00| 000 ~ 066 10988 |3mEEZD -~ - - -] 100kN/mZ#8z% | 1.00 | 1083 ~ 1295| 109.88 |3mZ#Bz25 -~
s 1.00 | 0.66 ~ 845 100.00 | =St | 0.00 ~ 845 | 2.07 10.88 st 1.00 | 6.00 ~ 1083 100.00 | =nst | 6.00 ~ 1295| 2.07 10.88
10 100kN/m%EBZ5 | 1.00| 000 ~ 043 106.39 |3mEEZS -~ - - -] 100kN/mZ#8z5 | 1.00 | 1082 ~ 1213| 106.39 |3mZ#Bz25 -~
s 1.00 | 043 ~ 822 100.00 | =nlst | 0.00 ~ 822\ 2.08 10.89 st 1.00 | 6.00 ~ 1082 100.00 | =nst | 6.00 ~ 1213| 2.08 10.89
11 100kN/mM%#BZ % - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -1 3mEBZD -~
s 1.00 | 0.00 ~ 7.03 89.22 | #nS | 000 ~ 7.03| 1.76 922 st 1.00 | 6.00 ~ 877 89.22 | #h4 | 5.00 ~ 877 1.76 922
12 100kN/mM%#BZ % - -~ - -|3mEBZD -~ - - -| 100kN/m%#8% % - -~ - S| 3mEBZD -~
s 1.00 | 0.00 ~ 6.30 79.11 | s | 000 ~ 630 1.80 942 st 1.00 | .00 ~ 7.38 79.11 | Ths | 6.00 ~ 7.38]| 1.80 942
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ FhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ FhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ FhLst ~ FhLst ~ FhLst ~
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